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Note : All sections are compulsory.

SECTION-A

Note :	 All questions of this section are compulsory.

1.	 State whether the given statements are	 3
True (T) or False (F) :

A biotic community interacting with its
physical environment forms an ecosystem.

The sulphur cycle is mostly sedimentary
except for a short gaseous phase.

A natural food web is usually unstable.

Human population explosion has resulted
mainly from an increased birth rate.

Carnivorous fishes are generally more
susceptible to low levels of pesticides.

Forests have four or five layers of
vegetation.
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2.	 Give the technical term (in one or two words) for	 2
each of the following :

Tiny solid or liquid particles suspended in
the atmosphere.
Grassy plains found in tropical and
subtropical regions with few or no trees.

	

3.	 Fill in the blanks :
A situation where there are more people
than the supply of vital resources is known
as 	
	  is the range of environmental
factors that a particular species can tolerate.
In a community studies, the two niche
dimensions usually taken into consideration
are 	 and 	
The length of the reproductive life of
individuals affects the biotic potential of a

4.	 Explain the following : 	 3
Wind breaks
Estuary

(c) Secondary succession



SECTION-B

Note :	 (i) Attempt any four questions.

(ii) All questions carry equal marks.

Discuss the role of soil biota in maintaining the 	 5
soil fertility.

Explain the natural mechanisms that protect life 	 5
on earth from the incoming high energy solar
radiations.

'Although predator populations are not always
	 5

primary controllers of prey populations, they do
contribute to the stability of these populations'.
Discuss with the help of an example.

Explain with the help of a suitable illustration the 	 5
highlights of energy flow in an ecosystem.

Describe the importance of forests in human	 5
welfare.

What do you understand by genetic diversity in 	 5
the context of future survival of mankind ? State
how the systems of natural regulation are affected
by the evolutionary changes.
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SECTION-C

Note :	 (i) Attempt any two questions.

(ii) All questions carry equal marks.

Distinguish between fresh, marine and brackish 	 10
water. Discuss how plants and animals are
adopted to these conditions ?

Explain with the help of examples (one each) the
concepts	 of extinct, endangered, rare,
indeterminate and out of danger species. 	 10

13. Differentiate between the following : 	 2x5=10

Bioaccumulation and biomagnification

Lotic and lentic habitats

Deciduous forests and tropical forests

Savanna and steppes

(e) Expanding and stable populations
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